

SUPPLEMENT

TO THE

EW ZEALAND GAZETTE

OF

THURSDAY, 26 JULY 1984

Published by Authority

WELLINGTON: FRIDAY, 27 JULY 1984

Import Licence Tendering-Call for Tenders: Round 16

PURSUANT to the Import Control Regulations 1973 (S.R. 1980/246) the Secretary of Trade and Industry, acting under delegated authority is calling tenders for the goods specified below. Tenders close on 20 August 1984 at 5 p.m. and must be received by the Registrar of Tenders by then to be valid. Tenderers are advised that the item codes referred to relate to those shown in the Import Licensing Schedule 1984. Instructions for tenderers and the general terms and conditions which apply to the submission and acceptance of tenders are set out in the Guide to Licence Tendering dated January 1984. Tenders should be addressed to the Registrar of Tenders, P.O. Box 3146, Wellington, or be delivered by hand to the First Floor of the Bowen State Building, Wellington. Tenders for Round 16 should reach the Registrar no later than Spr m or 20 August 1984.

later than 5 p.m. on 20 August 1984.

NOTE:

1. Tenderers should refer to the Customs Tariff and the Import Licensing Schedule for a definite description of the goods included in the list above.

2. Tenderers should be conversant with the various statutes and regulations which importing enterprises are obliged to comply with, such as the Food and Drug Regulations 1973, Safety Standards, Duties and Sales Tax, etc., where relevant.

3. Tenderers are reminded to use a separate tender form for each tender number. Bids may be sent in one envelope. The envelope must be marked Import Licence Tender.

4. Where two or more item codes are tendered under a single tender number, successful tenderers should nominated which item code(s) the licence(s) should be issued under when payment is made.

31 JUL 1984

ିମ

2906

THE NEW ZEALAND GAZETTE

PACKING INDUSTRY DEVELOPMENT PLAN—CHAPTER 38

NOTE: Successful tenderers under tender No. 1999 or tender No. 2004 will be asked to nominate which category(ies) of goods the licence is to be issued when the invoice is paid.

Tende No.	Code	Tariff Items	Goods: Brief Description	Final Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
The f	following when	put up for retail sale.					
1998	Ex 38.005	Ex 38.11.001	Disinfectants	125,000	5 ×	25.000	2
	Ex 38.005	Ex 38.11.011	Insecticides containing organo-phosphorous	450,000	10 ×		4
	Ex 38.005	Ex 38.11.029	compounds Insecticides other (other than in pressure (aero-				
1999] 30.005	LA 30.11.029	sol) containers)				
	Ex 38.005	Ex 38.11.059.01J	Growth promoting and growth regulating				
	Ex 38.005	Ex 38.11.059.09J	preparations				• •
	LA 30.003	EX 30.11.039.09J	Anti sprouting products or preparations: other products and preparations				
2000	Ex 38.005	Ex 38.11.049	Herbicides other	625,000	10 ×	62,500	2
2001	Ex 38.005	Ex 38.11.031	Fungicides	200,000	5 ×		2
The f	ollowing when	put up for other than	retail sale.				
2002	Ex 38.010	Ex 38.11.031	Formulated thiram	60,000	3 X	20,000	2
2003	38.015	Ex 38.11.001	Disinfectants	125,000	5 ×		2
	38.020	Ex 38.11.011	Insecticides containing organo-phosphorous compounds	450,000	10 ×	45,000	4
2004	38.020	Ex 38.11.029	Insecticides other (other than in pressure (aero- sol) containers)				
	38.020	Ex 38.11.059.01J	Growth promoting and growth regulating preparations				
	38.020	Ex 38.11.059.09J	Anti-sprouting products or preparations: other				
2005	28.020	E- 20 11 040	products and preparations				
2005 2006	38.020 38.020	Ex 38.11.049	Herbicides other	625,000	10 ×		2
2000	58.020	EA 30.11.031	Fungicides	200,000	5 ×	40,000	2

PLASTICS INDUSTRY DEVELOPMENT PLAN FIFTH ALLOCATION

Tender No.	Item Code	Tariff Items	Goods: Brief Description	5th Allocation \$	No. of Units		icence Unit Size \$	No. of Units a Tenderer May Bid For
2007	Ex 39.105	39.01.251 39.01.309 39.01.321 39.02.231 39.02.281 39.02.291 39.02.301 Ex 39.03.141 Ex 39.03.149 Ex 39.03.161	Cellular plastics, flexible, in the following forms—bulk, sheet flooring underlay exclud- ing EVA sheeting for use in the manufacture of footwear		44	×	2,500	8
2008	39.110 39.115	Ex 39.01.261 Ex 39.01.263 Ex 39.02.241 Ex 39.02.249 Ex 39.03.151 Ex 39.04.115 Ex 39.04.115 Ex 39.04.119 Ex 39.05.131 Ex 39.05.139 Ex 39.06.111 Ex 39.06.119 Ex 39.07.301.01K Ex 39.07.301.11G Ex 39.07.301.11B Ex 39.07.309.11H Ex 39.07.309.31B	Monofil rods, sticks, and profile shapes includ- ing those worked beyond the stage of being merely surface worked		39		11,000	4
2009 2010	39.112 { 39.120 59.145	Ex 39.07.309.49E 39.01.239 Ex 39.07.301.01K Ex 39.07.301.09E Ex 39.07.301.19B 39.07.305 Ex 39.01.389 Ex 39.01.391	Tubes and rods of man-made fibres agglomer- ated with plastic materials including those suited for the manufacture of fishing rods Plates, sheets, strip, film and foil flexible other than cellular.	;	20 174	× ×	1,000 5,000	6
	(Ex 39.01.399 Ex 39.01.401 Ex 39.01.409 Ex 39.01.419	Including textile fabrics impregnated, coated, covered, or laminated with preparations of cellulose derivatives or of other artificial plas- tic materials of Tariff Heading 59.08	f				

THE NEW ZEALAND GAZETTE

\mathbf{a}	n	n	7
4	7	υ	1

Tender No.	Item Code		Goods: Brief Description	5th Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
		Ex 39.01.421 Ex 39.01.429					
		Ex 39.01.439					
		Ex 39.02.391 Ex 39.02.401					
		Ex 39.02.409 Ex 39.02.411					
		Ex 39.02.419 Ex 39.03.191					
		Ex 39.04.121 Ex 39.04.129					
		Ex 39.05.131 Ex 39.05.139					
		Ex 39.06.121 Ex 39.06.129					
		Ex 59.08.002 59.08.012					
2011	39.125	59.08.028 Ex 39.01.371	Rigid films and foils of a thickness not exceed-	280.000	76 \	5 000	0
2011	39.125	Ex 39.01.397	ing 1 mm and exceeding 20 cm in width	380,000	76 ×	5,000	8
		Ex 39.02.381 Ex 39.02.389					
		Ex 39.03.191 Ex 39.04.121		<u>.</u>			
		Ex 39.04.129 Ex 39.05.131					
		Ex 39.05.139 Ex 39.06.121					
2012	39.130	Ex 39.06.129 Ex 39.01.419	Plates and sheets not eisewhere specified; articles	755,000	151 ×	5,000	15
		Ex 39.01.421 Ex 39.01.429	of rectangular shape worked beyond the stage of being merely surface worked				
		Ex 39.01.439 Ex 39.02.501					
		Ex 39.02.511 Ex 39.02.519					
		Ex 39.02.521 Ex 39.02.529					
	•	Ex 39.03.191 Ex 39.04.121					
		Ex 39.04.129 Ex 39.05.131					
		Ex 39.05.139 Ex 39.06.121	·				
		Ex 39.06.129 Ex 39.07.301					
2013	39.200	Ex 39.07.309 Ex 39.01.271	Seamless tubes, rigid	1,875,000	75 ×	25,000	6
2014	39.205	Ex 39.02.251 Ex 39.01.291	Seamless tubes; flexible; other than layflat, over	155,000	31 ×	5,000	6
		Ex 39.01.299 Ex 39.02.271	25 mm outside diameter			.,	, , , , , , , , , , , , , , , , , , ,
2015	39.210	Ex 39.02.279 Ex 39.01.291	Seamless tubes; flexible; other than layflat;	38,750	31 ×	1,250	6
		Ex 39.01.299 Ex 39.02.271	25 mm outside diameter and under			-,	Ŭ
2016	39.215	Ex 39.02.279 39.07.479	Couplings, unions, tees, elbows, bends, and	575,000	115 ×	5,000	12
2017	39.220	39.01.275 to	similar fittings for pipes, tubes, and hose Seamless tubes; flexible: lavflat; flexible films	2,120,000	106 ×		10
		39.01.282 Ex 39.01.361 to	(other than self adhesive) of a thickness not exceeding 0.25 mm and exceeding 20 cm in	· · · · · · · ·			10
		Ex 39.01.369 39.02.261	width				
		39.02.262 Ex 39.02.268					
		Ex 39.02.269 Ex 39.02.371	· · · · · · · · · · · · · · · · · · ·				
		Ex 39.02.372 Ex 39.02.378					
		Ex 39.02.379 39.03.189					
		Ex 39.04.121 Ex 39.04.129					
		Ex 39.05.131 Ex 39.05.139					
		Ex 39.06.121 Ex 39.06.129					
2018	39.225	39.07.391 39.07.392	Bags; pouches and similar flexible containers	1,425,000	114 ×	12,500	8
		39.07.401 39.07.402					
2019	39.230	39.07.402 39.01.351 39.02.361	Flexible film of a thickness not exceeding 0.25 mm and exceeding 20 cm in width colf	38,750	31 ×	1,250	4
		39.03.185	0.25 mm and exceeding 20 cm in width, self adhesive. Excluding coated jumbo rolls for use				
		Ex 39.04.121	in the manufacture of tapes				

THE NEW ZEALAND GAZETTE

Tender No.Item CodeTariff ItemsGoods: Brief DescriptionSth Allocation \$No. of UnitsLicence Unit SNo. UnitsEx 39.04.129 Ex 39.05.131 Ex 39.06.121 Ex 39.06.129Fx 39.04.129 Ex 39.06.121 Ex 39.06.129Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, self- Ex 39.02.331 Ex 39.02.341 Ex 39.03.171 Syn02.341 Ex 39.05.131 Ex 39.05.131 Ex 39.05.131 Ex 39.05.131 Ex 39.02.341 Ex 39.05.131 Ex 39.03.171 Syn2245 and syn245 and of a width not exceeding 0.5 mm adhesive (excluding the goods specified in Item 39.245 and 39.247 and exempt goods)165,000 33 \times 5,000202139.240Ex 39.01.341 Ex 39.01.341 Ex 39.02.331 Ex 39.02.331 Ex 39.02.331 Ex 39.03.131 Ex 39.03.131 Ex 39.03.131 Ex 39.02.341 Syn245 and 39.247 and exempt goods)136,000 34 \times 4,000202139.240Ex 39.01.341 Ex 39.01.341 Ex 39.02.331 Ex 39.02.331 Syn245 and exempt goods)136,000 34 \times 4,000	of
$\begin{array}{c ccccccccccc} & & & & & & & & & & & & & &$	ts a erer Bid
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	r
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	
2020 39.235 Ex 39.01.341 39.01.345 Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, self- adhesive (excluding the goods specified in Item 39.02.341 165,000 33 × 5,000 2021 39.240 Ex 39.01.341 Ex 39.05.131 Ex 39.01.349 Tapes, being of a thickness not exceeding 0.5 mm adhesive (excluding the goods specified in Item Codes 39.120, 39.130, 39.220, 39.230, 39.240, 39.245 and 39.247 and exempt goods) 165,000 33 × 5,000 2021 39.240 Ex 39.01.341 Ex 39.01.349 Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, other than ex 39.02.331 136,000 34 × 4,000 2021 39.240 Ex 39.01.341 Ex 39.02.331 Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, other than ex 39.02.349 136,000 34 × 4,000	
$\begin{array}{ccccccc} 39.01.345 & \text{and, of a width not exceeding 0.5 mm} & 105,000 & 33 \times 3,000 \\ \hline & & & & & & & & & & & & & & & & & &$	
Ex 39.02.331 39.02.341 adhesive (excluding the goods specified in Item Codes 39.120, 39.130, 39.220, 39.230, 39.240, 39.245 and 39.247 and exempt goods) Ex 39.05.131 Ex 39.05.139 39.245 and 39.247 and exempt goods) 2021 39.240 Ex 39.01.341 Ex 39.01.349 Ex 39.02.331 Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, other than Ex 39.02.331 136,000 self-adhesive viz: strapping (excluding the Ex 39.02.349	2
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	
Ex 39.05.131 Ex 39.05.139 2021 39.240 Ex 39.01.341 Tapes, being of a thickness not exceeding 0.5 mm 136,000 34 × 4,000 Ex 39.01.349 and of a width not exceeding 20 cm, other than Ex 39.02.331 self-adhesive viz: strapping (excluding the Ex 39.02.349 goods specified in Item Codes 39.235 and	
202139.240Ex 39.01.341 Ex 39.01.349 Ex 39.02.331Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, other than self-adhesive viz: strapping (excluding the goods specified in Item Codes 39.235 and136,000 34 × 4,000	
Ex 39.01.349 Ex 39.02.331 Ex 39.02.349 Ex 39	
Ex 39.02.349 goods specified in Item Codes 39.235 and	6
2022 39.245 Ex 39.02.331 Tapes, being of a thickness not exceeding 0.5 mm $17.500 \le 0.53$	
Ex 39.02.349 and of a width not exceeding 20 cm, other than	8
self-adhesive viz: polytetrafluoroethylene (P.T.F.E.)	
2023 39.247 Ex 39.01.341 Tapes, being of a thickness not exceeding 0.5 mm 50.000 10 \times 5.000	4
Ex 39.01.349 and of a width not exceeding 20 cm (exclud- Ex 39.02.331 ing the goods specified in Item Codes 39.235,	
Ex 39.02.349 39.240 and 39.245 and exempt goods)	
Ex 39.02.511	12
Ex 39.02.519 2025 39.260 $39.07.419$ Botties, boxes, drums, jars, trays, tubs, and other $490,000$ $98 \times 5,000$	-
39.07.421 containers of a kind commonly used for the	7
39.07.431 conveyance or packaging of goods, viz: col- lapsible tubes and restable containers	
2026 39.265 39.07.429 Bottles, boxes, drums, jars, trays, tubs, and other 190,000 76×2500	12
containers of a kind commonly used for the conveyance or packaging of goods, viz: non-	
nestable containers not exceeding 250 ml capacity	
2027 39.270 39.07.429 Bottles, boxes, drums, jars, trays, tubs, and other 900,000 $45 \times 20,000$	4
39.07.439 containers of a kind commonly used for the conveyance or packaging of goods, viz: non-	
nestable containers exceeding 250 ml capacity	
39.07.449	6
2029 39.280 39.07.469 Baths (including shower baths) and panels and 180,000 45 × 4,000 fittings thereof, shower bases, wash basins.	4
lavatory pans, bidets (including seats and cov-	
2030 39.285 39.07.489 Stationery goods of plastic 490,000 98 × 5,000	6
2031 39.290 Ex 39.07.499 Tableware, kitchen, and household utensils of $755,000$ $151 \times 5,000$	8
plastic 2032 39.300 39.07.529 Standard, table and wall lamps, iampshades and 99,000 $22 \times 4,500$	3
other light fittings, of plastic	
39.07.599.09D	8
Ex 39.07.599.12D Ex 39.07.599.18C	
39.07.599.22A to 39.07.599.38H	
39.07.599.52C	
39.07.599.58 B 39.07.599.72H	
Ex 39.07.599.98A	

RUBBER GOODS DEVELOPMENT PLAN

Tender No.	Item Code	Tariff Items	Goods: Brief Description	2nd Allocation \$	No. o Units	f	Licence Unit Size \$	No. of Units a Tenderer May Bid For
2034	Ex 40.005	40.07.009	Vulcanised rubber, thread and cord, textile covered, etc.	2,000	4	×	500	. 1
2035	40.010		Unvulcanised natural or synthetic rubber in the form of tubes, piping and tubing of unhar- dened vulcanised rubber	70,000	14	×	5,000	2
2036	40.015		Unvulcanised natural or synthetic rubber in other forms, excluding tubes and solutions	25,000	10	×	2,500	3
2037	Ex 40.022		Plates, sheets, strips, etc., of vulcanised rubber, excluding rubber sheet soling	110,000	11	×	10,000	2
2038	40.030		Transmission, conveyor or elevator belts or belting of vulcanised rubber	40,000	.8	×	5,000	1
2039	40.033		Cycle tyres	6,000	8	x	750	1
2040	40.040		Non pneumatic tyres	7,000	7	×	1,000	2
2041	40.042		Hot water bottles	10,000	5	×	2,000	1
2042	40.047		Teats	2,000	4	Х	500	1

27 JULY

THE NEW ZEALAND GAZETTE

Tender No.	Item Code	Tariff Items	Goods: Brief Description	2nd Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
2043	40.055		Articles of apparel and clothing accessories	6,000	6	× 1,000	1
2044	40.060		Washers, gaskets, stoppers, etc.	45,000	9	× 5,000	2
2045	40.062		Rubber bands, other articles	30,000	12	× 2,500	2
2046	40.067		Milking machines rubberware	60,000	12	× 5,000	2
2047	40.070		Spools, reels, etc., articles used in machinery etc	c. 60,000	12	× 5,000	2

Successful tenderers will be required to complete and return a Licence Usage form for the above goods.

CERAMIC INDUSTRY DEVELOPMENT PLAN

First of 2 rounds in Year 1 of the Ceramic Industry Development Plan.

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation \$	No. o Units	f	Licence Unit Size \$	No. of Units a Tenderer May Bid For
2048 2049	38.055 Ex 69.005	38.19.001 69.01.000 Ex 69.02.021 Ex 69.02.028 69.02.012	Refractory cements, mortars, etc. Heat-insulating and refractory bricks, blocks, tiles etc.	105,000 135,000	21 27	× ×		33
2050	Ex 69.005	69.02.012 69.02.018 69.04.001 69.04.009 69.05.001 69.05.009	Building bricks, roofing tiles, chimney pots, cowls etc.	205,000	41	×	5,000	3
2051 2052 2053	Ex 69.005 Ex 69.005 Ex 69.015	69.06.000 69.06.000 69.07.009	Field tiles Pipes Pavers, (heavy duty brick flooring tiles having	115,000 150,000 32,000	23 30 8	× × ×	5,000	3 3 1
2054	Ex 69.015	Ex 69.07.001 Ex 69.07.009 Ex 69.08.001	a thickness of 26 mm or more) Tiles (extruded) floor and wall tiles less than 26 mm in thickness	17,000	10	×	1,700	1
2055	Ex 69.015	Ex 69.08.009 Ex 69.07.001 Ex 69.07.009 Ex 69.08.001 Ex 69.08.000	Tiles (pressed) floor and wall tiles	28,000	14	×	2,000	1
2056	69.025	Ex 69.08.009 69.09.002 69.09.008 69.09.011 69.09.019	Pots, jars, troughs etc.	7,500	10	×	750	2
2057	69.040	69.10.019 69.11.032 69.12.032 69.12.032 69.12.041 Ex 69.13.001 Ex 69.13.009	Ornaments and other Articles of a kind commonly used for toilet pur- poses and personal adornment etc.	40,000	20	×	2,000	2
		Ex 69.14.001 Ex 69.14.009						

GLASSWARE INDUSTRY PLAN

First of 2 rounds in Year 2 of the Glassware Industry Plan.

Tender No.		Item Code	Tariff Items	Goods: Brief Description	Allocation \$	No. of Units		Licence Unit Size \$	No. of Units a Tenderer May Bid For
2058		70.020	70.10.011	Carboys, bottles and jars not exceeding 250 ml capacity	220,000	22	х	10,000	3
2059		70.025	70.13.041 70.13.051	Drinking glasses (excluding exempt glasses)	235,000	47	x	5,000	2
2060*	{	70.030 70.035	70.13.081.41B 70.13.089.31F	Cups, plates, saucers and dishes, whether or not in sets (whether or not heat-resistant)	50,000	20	×	2,500	1
2061	(70.040	70.14.001	Electric lighting glassware	100,000	20	х	5,000	3
				*Only 1 round is planned Year 2					

ът. . .

